4 Kaacc
Januimm oAHU

OTBCTbDI

AsTOp:

bepntota Onbra AnexkcaHapoBHa
yuuTesnb Ha4YanbHbLIX Kaccos
MOQOY COLL Ne32
r.Komcomonbcka-Ha-Amype,
Xabaposckoro kpas



Cymma qucen
306 000

10 000




Pa3Hocmb
yuces

400 000
10 000



[Ipou3eedeHue
yuces

1 200
4




HacmHoe yucen

4 800
60




Hauodu ckopocmb,
ecsiu

S =3 200 km
t=8y




Hauou epemsi
nymu, ecsu

S = 650 Kwm
V = 70 KM/\Y



Yemy paseH
nymb, ecsiu

V =40 Kkm/y
t=7y



[Ipoeepb!
316 000 <400
390 000 km/u

*4 800 1 4y 20Mm
380 e280 KM




